lt,ns.'_";l00
o R Toht organi®
= -ular weight OFE i [
01 Lecithin, & small rr_m]cx.u_l'\r R oxample
compound found in living HISSUES,
of: - s LS
(1) Amino ;ic.nllz Py ,' s
2 Phqspl\nllplds i
(=41 Gilycerides
(4) Carbohy drates
1 H are
102 How many molecules of ATP and hf“'):m 0 g 4o
< o . = O e
required m;' :'\-ury molecule of CO5 It e
Calvin cycle? S ]
() 2 malecules of ATP and 3 molecules of 220 4,
NADPH \ o ‘S,
zcules ATP and 2 molecules :
(2) 2 molecules of ! Hiae.
NADPH - :
(31 3 molecules of ATP and 3 molecules ©
NADPH .
(4} 3 molecules of ATP and 2 molecules of
NADPH

)

103 Hind 1 always cuts DNA molecules at a particular
point called recognition sequence and it consists

of:
(L 8bp (Z) 6bp
(3) 4bp 4y 10bp 3

104  In the given figure, which component has thin
outer walls and highly thickened inner walls?

B LI

105 The cofactor of the enzyme carboxypeptidase ig
(1) Zine (2) Niacin
(3} Flavin 47 Haem

106

The \‘.ﬂ:pﬂci{_\ 1o generate a whole plant from a
cell of the plant is called:

(1) Totipotenc v

(2) | .\‘liumpropugm ion

¥ Differentiation

(4)  Somatic hybridization



s diversity
auses of bindive
Ihese are regarded as major causes
118 Theseare reg

S N et . 1deritify thi
T Match Last Fwith List 01 HL e v 2 PO e ey stiterments hi
_ T - he Niowee. . o istic growth is
Hist Skt = ot <.\,.Lf\."’ L fmerisare colaurfuy 114 The equation of Verhulsi-Pearl logistic gre loss:
AL Rhizopn | Mushr il _L ) i A v A Owerexploitation
Be The Mowers of w0 o o s A
B Ustitago 1 Eate ¢ nor Iurl“"““.l ot ; Fn Ay et Be  Co-extunetion
. . Friom this equa LA mdicates: i .
C. Puccinin m ¢ I most of Waterpollinated yoe - 4y Intrinsic rate of natural increase ! TR - ntation
S, i ett e e hrd St il : abitat loss and fragmentatior
Agraricus | pollen grains are proteceq Trom Welling (2) Biotic potential < Habitat loss 3 L
Chiovse the correet answer frarh tlic options gihven I 0 Pallen grains of *'"Ilf\‘||_\.J|n[,|,_\.“_h \'l‘lul.- {3} Carmying capacity I Migration
helow { and ribbon like Oy {4} Population density Choose the correct option:
LY AL B CAvER-| E. Insome hndrophyies, the Pollen gpgs and D anly
¢ . yiets > By | e epare weed-froe (11 A, Cand )
wrried passively inside wy ity 5 Auxinis used by gardeners to prepare weed ;
(2) ALBAL Col, DRl carried passively Jn.-.ufn Wi 115 Iu:l‘\”.. Bt o el e PATERH S Beda n D (1) A, B.C and Donly
) AL B, G- DTV | Choose the correctanswer f.-.uulrtcupu-un_,gw" (¥ promotes apical dominance | (3) A, B and E anly
() A=V, BEIL e B | helow (2) promotes abscission aFmature leaves only _1//1 AL B and D anly
{ (1) €, Dand E only (3) does not affect mature monocotyledonous
en below sire iy stlltements | AL B. € and D only plants. ; § is not a-criterion for
R i) bela [ KA (4) ean help in cell division in Erasses, 10 | |10 ik e ot ing is not a criterior
Suatement s Bidoxfns e mscet | {3] A.C, DandEonly i S
[ L produce growil -lassification of fungi?
amfogded by gene i Ao | (4) B, €, Dand E only 5 N lium
L » # A Joenur
DOHBRERIEEL 0L foxin exlsts as:inactivy f 116 [dentify the part of the seed from the given figure (1) Morphology nr_m)-
!pnlru.\mjml;ﬂ d””1“.I‘I:;l“-'\.lrl;::crll-:“ .‘rl:'r [ 12 The factose present in the growth mediun o which is destined to form root when the seed (2) Mode of '"-'“'“'}’“ .
igestion by the Inseet the inactive proto i = 2 e SRR o g e germinates, 3) Mode of spore formation !
comverted into getive §m duc io acidic pi of | Bacteria is transported to the cell by the ction g > (3) : c e sp D"’VM%
the insect gul |' (1 actosidase 5 (4}  Fruiting body i
st of the above statements, chise the || (2) Acetvlase -
vamect answer from teoptions given belaw I| ) Prrimense 120 Identify the type of Nowers based on the position
(1) Both Sttement | wid Statement 1T are true I| (4¥ Polymernse of calyx. corolla and androecium with respect to
£2) Both Statement | and Statement [ are fulse | : the ovary from the given figures (a) and (b)
(3D Statement | fs true but Statement [I ie false | ; spi
o i ! R went I is fals | 113 March List Fwith List 11
I Stitement | is fiulge bur St ment (s true i
s f { List1 List IT >
| [ =
) - Ao Clesirieliem I L 4
109 Which of e followfng is an example of I|I : — (1) A 2) B —_—
actimomorphic ower? { butilicm r~ ':y}/ C () B :
(1) Bisiarys 27 Cuniie ||I B Succhatomyees I, Streptakidase
1 > 3 o “r
(2 Pivse ) Siihon |'I cerevivine - U7 Given below are two statements
| . Trichoderm It Bliyria méé Statement [ : Parenchyma is living but
B0 T e : | . s collenchyma is dead tissue, ’ )
ARE 0k conservatibn in whicl the threatenad | pelvsporym vt} (a) Epigy 5 Hy
C atened Statement [1: G % i {a) Epigynous; (b) Hypogynous
SPECIES are tuken out ftm their naturg) hab ,'I D, Srepiococcis v ; Statement ] ._{_nl\numqu s lack xylem vessels 2 YPpog)
and pliced in special Sghing wh : abitat | s 5p. IV Cyclosporin-A but presence of xylem vessels is the characteristic (=) (a) Hypogynous; (b) Epigynous
Srectatselting wheve they can pe | Choose the ¢ [ i « bl ¥ of anriosperme - :
Pritected and given Spegiad care is eallod bel " comectanser from the L‘pllc!n‘s“é!\-m | J”I: l.lbp”lm' 12) (@) Perigynous; (b) Epigynous
e & - L low: -7 s lig “the 1 s ments. o i
i (10 imsituconservation ; : fithe light of the above datements, choose the (4 (@) Perigynous; (b) Peria
(2) Biod; ' (1) AL, By, C-1, ey carrect answer from (he Options given belaw- i S crigynous
i ediversity con £l / . : T (T x
By < oivalion 2 ALBAV. G,y . (1) Both Statement I and Sfatemen i1 are true
L CMI-COnSaryvative r |'II £ e ) Statems - o . 2 st of e
onservative method | () A0 B IV Dy (2), Both Statement | and Statement |1 are false | 121 Listof endangered SPeCies was released by-
1 Statement | s (rye but Statement 11 is false (1) GEAC ) WWE
(1) Statement | s fajse but St i ) :
L : ut Statement I is trye !
ent 1 is trye ) FOAM 4) 1uC

{4} Uslamahle devels pmen ! 5 =, - =
4) 8 il r () f\“o',h‘f.( 1, 1

Q3 English |
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Choose the correat answer from the options given | 127

below |

the basis of Mendel’s Law of Dominance?
A, Our of one pair of factors one 15 dominant
and the other ts recessive.
8. Alleles do not show any expression and both
the characters appear as such in F,
peneration

€L Factors oceur in pairs in pormal diploid o

plants.
D The discrete unit controlling a particular
character is called factor.
E.  The expression of oaly one of the parcntal
characters is found in a monohybrid cross.
Choose the correct answer from the options given
below:
W A, B and C only
(2) A, C. Dand Eonly
() B, Cand D only
(4) A B,C DandE

(3)
)

stage.
TECOgr

124 Inbibition of Suceinic dehydrogenase enzyme by

malonate is a classical example of: sartpel

- (1) Cofactor inhibition
(2)' Feedback inhibition
~2) Competitive inhibition
(4) Enzyme activation
—

Q3 E nglish | 18

o w-hmis“’er'l"‘o"“lﬁlﬁt\:rlfL)N;\.'.urnim_----.l\ 125 Formation of interfascicular cambiurt from fi,
gene of interes: which is transferred inin &nalien | developed parenchyma cells is an example f, 2
organism? i S
A The picce of IINA would he able 1o multiply. | (2) Redifferentintion

sell independentty in he progeny cells of | (3} Dedifferentintion
the arganism. [ Fi) Matiretlon
B It may getintegrated into the genome of the |
recipicnt, | 126 Spindle fibers sttach to kinetochoreg o
€. Itmay multiplyand be inherited along with || e e s
the hast DNA | cly Prophase (2} Metaphase
D, The alien picde of DNA s not an iniegral II 234 Wikrihaso (4) Telophase
part of chromcosome: | v
E. It shows ability to replicae. [

Tropical regions show greatest level of Specie, |

richness because y
Tropical latitudes have remained ”I“t’\"ul_n,

(1} Aand B only II| Al o o of ,\':L‘Er:s, hcnb‘.
21 D and E only | more time was available for Specig,
A -'“l'“-_ i | diversification.
(4)  Aand E only B Tropical envi are more seasong].
123 Wiiich ane of the following can be explained on | €. More solar energy is available in [rclp“-:sl
D, Constant environments promote Mic by

specialization.
Tropieal environments are constang
predictable;

ang

Choose the correct answer from the options Ziven |
below:

A, C, D and E only

EQ‘}/A and B only

A, B and E enly |
A, Band D onfy

128 Given below are two statements:

Statement 1 : Chromosomes hecame £radually
visible under light microscope during leptotene

Statement II : The begining of diplotene stage is

lized by dissolution of synaptonemal |

complex.

In the light of the above statements, choose the

answer from the options given below:

U Both Statement | and Statement 1] are true
(2)  Both Statement | and Statement I1 are false
(3) Statement | js trie but Statement [1 is false
(4} Statement [ is false but

Statement 11 is true

[ Contd...

)
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|,
:3-1 13
: s dominant SEg
I a plant, black seed color (BB/Bb) 15 dt;—”,-::‘:‘ul Flonig,.,. = L
133 Inaplifis B alor (bb). In orderto find o e [un
1o : STl g o
129!, MeChEEEIVRILLEE: ‘ e wmr“-pc‘;f t‘l‘\c black seed plant, w llI\_ ‘:'l“x n __:*LJ':{:;‘_J\ |
List T L ‘hf'l ch'oﬁnwint_- genotype will you cross s
A Nucleolus 1. SiiedpanaHon o “‘“Hl[: i (@ bb A
: of glycolipid (n 437 BB/Bb .
. {3y Bb i Y56 nuy

B, Centricle I, Organization like oy
= S ‘ /hich of the following are required for the ik iy,

C. Leucoplasts I, Site for active 134 eaction of photosynthesis? Lz,
ribosomal RNA A. Light %o
symthesis B. Chlorophyll :u-a‘“‘“ul

D. Golgi 1V. For storing C. €O, Ko

apparatus nuirients o~ ATP -;;,:: =
3 T : S LLT
Choose the correct answer from the oplions given £, MNADPH ) o e
below: Choose the correct answer from the options give
Wl AL BALL, CA1V, D1 below:
(2} A-llL B-1IL C-I, D-IV (1} A, BandC only
(3) A-IIL B-1V, C-I1, D-1 -2y B.Cand Donly
{(4)  A-l, B-IL C-11L D-1V (3) C.DandE only :
(4) Dand E only (""‘"El-uo;
130 Bulliform cells are responsible for v t
T / i ith List 1 \
(1} Inward curling of leaves/in monocots. 135 Match List Lwith i__ h
= 2 List1 ( List IL |
(2} Protecting the plant fram salt stress. L -—.________-*
(= A. Two or more <R Back cross
(3) Increased photosynthesis in monocots. ; :
. y : alternative
41" Providing large spacesfor storage of sugars.
St Providing leris spde b 2 — forms of a gene
B. Crossof F 1L Ploidy
131 A pink Alowered Snapdragon plant was crossed o, w1ilh
with a red flowered Snapdragon plant. What type ? s
of phenotypefs is/are expected in the progeny? ‘0“102.}'2-(3\15 v
(1) Only red flowered plants TECRSSING parent
oy £ C. Crossof F :
(2) Red flowered as well as pink flowered plants i of 1 WL Allele
5 F ; rogeny wit
(3} Only pink flowered plants Prog 'yh h
) 5 any of the parents
<4 Red, Pink as well as white Nlowered plants P
D. Number of IV.  Testcross
il y chromosome
132 A transcription unit in DNA is defined primarily

by the three regions in DNA and these are with
respect to upstream and down stream end;

(1) Repressor, Operator géne. Structural gene
{2} Structural gene, Transpasons, O perator gene
(3)  Inducer, Repressor, Steuctural gene

(4)  Promotor, Struetural gene, Terminator

Q3 _English ]

sets in plant

Choose the correct answer from the options given
below:

(1) A-L, B-1L, @-111. D-ly

(2) A=l B, Canp, Dapy
< 8) AL BV, C, D-1l
(4) A<V, B-11L, oo, D-1
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136 The DNA present in chloroplust is:
(1} Linear, double stranded
(2) Circular, double stranded
(91/ Linear, single stranded
(4) Circular, single stranded

137  Maich List 1 with List 11

List List 11
A. Robert May I Species-Ares
relationship
B, Alexander von 1, Longterm
Humbaoldt 1T

experiment using

out door plots

. Paal Elrlich 1. Glohal species
diversity at about
7 million
0. David Tilman IV. Rivet popper

hypothesis
Chonse the correct answer from the options given
below
(1) A-IL Bl C-L D1V
&7 A-ll, B-1 C-IV. D-T
(3) Al Bl C-HL D-1V
() A-IL B-IV. C-11, D-1

138  Maich List [ with List 11
List I List IT
A Ruose I.  Twisted aestivation
B. Pea 1.  Perigynous Mower
€. Cotton 1. Drupe
D.  Mango IV, Marginal placentation
Choose the correct answer from the options given
belaw:
(1) A-Il, B-1V, C-1. D-T1

27 A-L B-II, C-l1I, D-1V.
(3) A-IV. B-ll, C-11, D-1
(4) A-ll, B-1II, C-1V. D-I

"N

Q3 English | 20

| Botany : Section-B (Q. No. 136 to 150) |

Which of the following L
ess of replication in Eenys

‘ 139

== y o
regarding the pr

‘ {1

et

Ihe DNA dependent DNA polymep,
< DN

catnlyses p.-ul\ merization in ong d'.m”“
catoly -

thetis3 =2
rhe DNA dependent RNA polymer,
merization in one direqlin,

.5 poly

cataly

that i5 5 3%
rhe DNA dependent DNA polymery,

3 e
£s pﬂlymcrlzalwn in5"—3 5

catalys
as 3 —3 direction.

DNA dependent DNA polymery,|
3" directiy,

The

(4] S
catalyses Fx!l_\«'meriz:tllnn in3

correct description about the gy

Identify the

figure!

140

rl[/l'_i Wind pollinated plant inflorescence showit
flowers with well exposed stamens,

(2) Water pollinated flowers showing stame
with mucilaginous covering.

(3) Cleistogamous flowers showing autogaiy

(4) Compact inflorescence showing comple
autogamy.

| Contd.

: i SLiVIRY
ocosystem if the Net primary Produc

n an A
iteti List] with List 11 5 inm of first trophic level is e
Ll List 11 oo ol w2y o7~ what would be 1 GP
A Liitrit acid I Cytoplasm (Gross primary Produe 'vit?'r.ﬂl' :ljn:‘lljll“"
eycle [ rophic Jevel of the same ecosysiem:
B, Glycolysis 1. Mitochondrial | 0 X (keal m S
matris ‘ 10
¢, Electron 1. Intermembrane | 2y x kcat m 2yt
ransport space of | &) 100 (kcal m 2y !
system mitochondria o0 L
p. Proton 1V, Inner i e (heal m =)
gradient mitochondrial
X membrane 144 Match List with List 11
B List 1 List 11
Choose the cotrect answer from the options given A GLUTA L. Hormone
below: B. Insulin I, Enzyme
(1) AL B-lL, C-I, DAY C. Trypsin 1, Intercellular
(2) AL B CHIV. D-111 ground substance
Bj/-ﬁ\-tll B-IV, C-1, D11 D. Collagen 1V. Enables glucose o SN
! : L transport into cells \ - .
A A B UL R Choose the correct answer from the options given
below: \
142 Read the following statements and choose the set (1) ALV, B-L C-11, DT ]
of correct statements: Q‘/':'l“ B!;“l-uc-éllt.vﬁg\;
. 3) -11, B-1i1, C-TV. D~
In the members of Phacophyceae, :.4-] NS
A, Asexual reproduction occurs usually by Sy
biflagellate zoospores. 145  ldentify the step in tricarboxylic acid cyele, which
B. Sexual reproduction is by cogamous method does not involve oxidation of substrate.
only. (1) Malic acid — Oxaloacetic acid
C. Stored food is in the form of carbohydrates (2} %uccf“i“ acid — Ma‘l.ic_w.l:i,d _
which is either mannitol or laminarin. (3) Succinyl-CoA = Suecinic acid
5 {4) lsocitrate —» @ -ketoglutaric acid
D. The major pigments found are chlorophyll
a,cand vids and phyll. 146 Given below are two statements:

E. Vegetative cells have a cellulosic wall,
usually covered on the outside by gelatinous
coating of algin.

Choose the correct answer from the options given

below:

(1) A,B,CandD only

(2) B,C,DandE only

'('3’] A, C,Dand E only
(4y A,B,CandE only \

Q3 English |

Statement 1 : In C; plants, some O binds ta
RuBisCO, hence C (j:_ fixation is decreased.
Statement 11 : In C ¢ plants, mesophyll cells show
very little photorespiration while bundle sheath ®
cells do not show photorespiration,
In the light of the abave statements, choose the

correct answer from the options given below:
y  Both Statement 1 and Statement 11 are true

(2) Both Statement | and Statement 11 are false
(3) Statement I is true but Statement 11 is falsel
(41 Statement | is false but Staternent 11 is true

| Contd
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147 Maeh Last Lwith Lisy 1y

List 1
(Types of Stumens) (Example)
A Manoadelphous |

List 11

: Citrns
B Diadelphous II. Pea
C. Poly adelphous I Lily

Do Epiphylious IV. Chin-rose

('l‘lﬂl.'\l.‘llh.‘-Irn.n.l.|||-.l\v\‘1'|n|m-'||r--plnﬂhs!l\o\'
below: -
(1) ATV BATL €41, DA

[2)  A-IV. B-L, C-11, D

AT AL BN CAV D
(4) A-HI B, C-IV, D=1

148 Nlarch Lisa [waih Last 1}

Lise 1 List 11
A, Frederick 1 Cienetic code
Griffith
Francos Jacob Il Semi-conservalive
& Jacque mode of DNA
Munod replication
Har Gobind Il Transformation
Khorara
Meselson & IV, lacoperon
Stahl
Choose the comect answer from the options given

befow:

(1) AL B-If, C-1 D=1V
(20 A=IIL, B-IV. C-I, D-Il
(1) A-IL B-HI, -1V, D-1

(4} A1V, B-I, C-I1, D-111

149 Which of the following are fused in somatic
hybridization invalving two varicties of planes?
(1) Callus

2) Somatic embryos

. 155
(3} Protoplasis
(4)  Puollens
150 ._S'(.u.-i_amg sugarcane crop with which of the
following plant growth regulators, increases the |
length of stem, thus, increasing the yield? I
(1) Auxin
(2} Gibberellin ;
(3} Cytokinin "
(4} Abscisic acid E

3 English | 22



	2909112e125fe96167f76618b92da0a81b9f625cfcc0da42b57775a6430e8220.pdf
	2909112e125fe96167f76618b92da0a81b9f625cfcc0da42b57775a6430e8220.pdf
	2909112e125fe96167f76618b92da0a81b9f625cfcc0da42b57775a6430e8220.pdf
	2909112e125fe96167f76618b92da0a81b9f625cfcc0da42b57775a6430e8220.pdf
	2909112e125fe96167f76618b92da0a81b9f625cfcc0da42b57775a6430e8220.pdf



